April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name	₹
1	120	29.10	4.1237	120.0000	100.00	5 Cannon, Pau	l

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	120	45.52	2.6362	120.0000	100.00	6 Lydon, Mark

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	120	43.01	2.7900	120.0000	100.00	2	Meddins, Daryl
2	120	51.40	2.3346	100.4125	83.68	1	Davies, Martin
3	120	54.15	2.2161	95.3130	79.43	7	Evans, Steve

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	OMPETITOR Name
1	120	31.83	3.7700	120.0000	100.00	Jiggens, Mark
2	120	48.55	2.4717	78.6735	65.56	Marechal, John

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	
1	60	18.27	3.2841	60.0000	100.00	5 Cannon, Paul

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITE # Name	ΓOR
1	60	14.80	4.0541	60.0000	100.00	6 Lydon, M	ark

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	60	12.85	4.6693	60.0000	100.00	2	Meddins, Daryl
2	60	17.93	3.3463	43.0006	71.67	7	Evans, Steve
3	60	20.18	2.9732	38.2061	63.68	1	Davies, Martin

April 2023

Printed April 24, 2023 at 12:21



1	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	60 60	10.34 22.35	5.8027 2.6846	60.0000 27.7584	100.00 46.26	3	Jiggens, Mark Marechal, John

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OR
1	40	5.79	6.9085	40.0000	100.00	5 Cannon, Pa	aul

April 2023

Printed April 24, 2023 at 12:21

L.P. S.C.

PTS		TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	40	7.04	5.6818	40.0000	100.00	6 Lydon, Mark

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	5.75	6.9565	40.0000	100.00	2	Meddins, Daryl
2	40	8.62	4.6404	26.6821	66.71	7	Evans, Steve
3	40	9.36	4.2735	24.5727	61.43	1	Davies, Martin

April 2023

Printed April 24, 2023 at 12:21



PTS		TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C #	OMPETITOR Name
1	40	8.14	4.9140	40.0000	100.00	3	Jiggens, Mark
2	40	9.26	4.3197	35.1620	87.90	4	Marechal, John

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	
1	40	7.20	5.5556	40.0000	100.00	5 Cannon, Paul

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	40	12.49	3.2026	40.0000	100.00	6 Lydon, Mark

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	7.11	5.6259	40.0000	100.00	2	Meddins, Daryl
2	40	7.21	5.5479	39.4452	98.61	1	Davies, Martin
3	40	9.70	4.1237	29.3196	73.30	7	Evans, Steve

April 2023

Printed April 24, 2023 at 12:21

L.P. S.C.

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	8.23	4.8603	40.0000	100.00	4	Marechal, John
2	40	12.98	3.0817	25.3621	63.41	3	Jiggens, Mark

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT		l L
1	65	13.69	4.7480	65.0000	100.00	5 Cannon, Paul	

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	65	38.20	1.7016	65.0000	100.00	6 Lydon, Mark

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	65	18.61	3.4927	65.0000	100.00	2	Meddins, Daryl
2	65	19.24	3.3784	62.8716	96.73	7	Evans, Steve
3	65	20.35	3.1941	59.4423	91.45	1	Davies, Martin

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	65	15.73	4.1322	65.0000	100.00	3	Jiggens, Mark
2	65	20.74	3.1340	49.2985	75.84	4	Marechal, John

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	_	MPETITOR Name
1	65	18.42	3.5288	65.0000	100.00	5	Cannon, Paul

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	65	25.82	2.5174	65.0000	100.00	6 Lydon, Mark

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	65	21.18	3.0689	65.0000	100.00	1	Davies, Martin
2	65	26.72	2.4326	51.5232	79.27	2	Meddins, Daryl
3	65	48.49	1.3405	28.3914	43.68	7	Evans, Steve

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	65	20.14	3.2274	65.0000	100.00	3	Jiggens, Mark
2	65	36.10	1.8006	36.2632	55.79	4	Marechal, John

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT		₹
1	55	9.47	5.8078	55.0000	100.00	5 Cannon, Pau	l

April 2023

Printed April 24, 2023 at 12:21

L.P. S.C.

	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPE # Nam	_
1	55	8.94	6.1521	55.0000	100.00	6 Lydor	n, Mark

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	55	8.77	6.2714	55.0000	100.00	1	Davies, Martin
2	55	9.47	5.8078	50.9345	92.61	2	Meddins, Daryl
3	55	10.58	5.1985	45.5907	82.89	7	Evans, Steve

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	55	6.53	8.4227	55.0000	100.00	3	Jiggens, Mark
2	55	7.66	7.1802	46.8864	85.25	4	Marechal, John

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETIT # Name	OR
1	100	55.44	1.8038	100.0000	100.00	5 Cannon, F	Paul

April 2023

Printed April 24, 2023 at 12:21

L.P. S.C.

	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name	
1	100	53.14	1.8818	100.0000	100.00	6	Lydon, Mark	

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	100	33.58	2.9780	100.0000	100.00	1	Davies, Martin
2	100	56.04	1.7844	59.9215	59.92	2	Meddins, Daryl
3	100	62.54	1.5990	53.6936	53.69	7	Evans, Steve

April 2023

Printed April 24, 2023 at 12:21



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	100	44.45	2.2497	100.0000	100.00		Jiggens, Mark
2	100	67.72	1.4767	65.6379	65.64	4	Marechal, John